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On the learning curve, the learning becomes stagnant in this
stage
1. Stage of fluctuation

2. Plateau Stage
3. Initial Stage
4. Secondary Stage
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According to parents opinion “Sloppy age” is
1. Early Childhood

2. Late childhood

3. Infancy

4. Puberty
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Children Apperception Test (CAT) is used for the following

children

1. 3 -10 years

2. 2 - 5 years

3. 2 - 8 years

4. 3 - 8 years
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A 3" class student has a lot of ‘anger’. The best way to control
that anger is

1.
2.
3.
4.

Over - discipline
Over - tasking
Awareness of Situations

Giving boring tasks
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The cognitive developmental stage of Piaget with
‘egocentrism’ is
1. Pre — Operational stage

2. Sensory motor stage

3. Concrete Operational stage

4. Formal Operational stage
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According to Erikson, the Psycho — Social Crisis faced by
persons in the age group of 12 — 20 years is
1. Role Identity — Role confusion

2. Autonomy - Doubt
3. Intimacy - Isolation
4. Generativity - Stagnation
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The Tool that does not study children behaviour
1. Case study

2. Interview

3. Reflective journals

4. Scrapbook
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A teacher told his students, “don’t study hard, study with love”.
From this statement, teacher enhances the following ability in
his students

1. Aptitude
2. Attitude
3. Interest
4. Love
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The Child Labour Prohibition Act came into force in the year
2POSPOYS NG 580 BT Q)T VoSS0

l. 1986
2 1990
3. 1984
4 1994

‘More Knowledgeable Other’ (MKO) concept was introduced
by
Jean Piaget

1

2 Hurlock

3. Vygotsky

4 Kohlberg
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The ‘Royal way’ to learning is

1. Experience
2. Training

3. Motivation
4. Behaviour
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“Discovery Learning” was proposed by
Skinner

Bruner

Kohler
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‘Learning takes place when the number of efforts is increased
then the errors are reduced’ stated by

1. Thorndike

2. Pavlov

3. Kohler

4. William James
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According to Vygotsky - “The age of silent inner speech”
5 years

3 years

2 years

7 years
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The rule which helps a 3™ class student, who get rid off the
habit of biting nails.

1. Law of Reinforcement

2. Law of extinction

3. Law of spontaneous recovery
4. Law of Generalization
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“A student who does not pass the exam, dreams that he passes
the exam with state first rank” is

1. Repression

2. Fantasy

3. Displacement
4. Projection

“0858° &% R ITGY TIRL00S” e o0
THOD[EN Soew 550”7 &3

L &S0

2. EE)S
3. ATRS0
4. (P30



Secretion released by the endocrine glands is known as

1. Vitamins
2. Hormones
3. Glucose

4. Energy cells
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One of the following method with the stages of problem
identification and problem solving
1. Case study

2. Narrative
3. Observation
4. Experimental
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Answering essay type questions is

1. Re-call

2. Re-learning
3. Recognition
4. Retention
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One of the following is not Thorndike’s intelligence
1. Abstract

2. Mechanical

3. Social

4. Emotional
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Learning another language with the help of mother tongue
1. Positive Transfer

2. Negative Transfer
3. Zero Transfer
4, Bilateral Transfer
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‘Inquiry into human faculty and its development’
book written by

1. Pavlov
2. Erikson
3. Galton
4. Pearson
050 ot TR F5EY ©0& 38 BIOIHol Bsons

1 >SS
2 RIS
3. mgs

4 RIWITON)



23.

24.

25.

According to RTE — 2009 teacher student ratio in primary level
RTE-2009 (35750 (FFWEF0nS" Imrgd &rergoine

l. 1:40

2. 1:20
3. 1:30
4. 1:25

Number of empty cards in TAT
TAT 5758 g9 Sows

l. 30
2 20
3. 10
4 1

Identify the mismatched one

1. Theory of formal discipline — Pavlov

2. Theory of identical elements — Thorndike
3. Theory of generalization — Charles Judd
4. Theory of Ideas — W.C. Bagley
208’ BT =SS 80508

L D ($5085e DTOS0 - FIE'D
2. RHED Swreste drrodo - Qs
3. IrEes dorodo - F8S ub
(e} ™
4 e5e5om© deroso - W.C. e R
(] ™



26.

27.

One of the following is the feature of Metacognition

l. Formulating questions
2. Self evaluation
3. Discussions

4. Responsibility
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It is not an input device
1. Key board

2. Mouse
3. Monitor

4. Web camera
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The author of “Home — schooling”

1. Gijubhai

2. Totto-chan
3. John Holt
4. Montessori
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The research that describes “Present State” and reflects on it

1. Historical

2. Descriptive

3. Experimental

4. Action Research
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30.

As per NEP-2020 ‘4’ in 5+3+3+4 pattern refers to

l.

Foundational Stage

2. Middle Stage

3. Secondary Stage

4. Preparatory Stage
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(PAPER — 1A)
Telugu
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Telugu Methodology — Paper — 1
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63.

64.

Raju along with his friends,

Choose the correct form of the verb to fill in the blank.

1
2
3.
4

English Paper — IA

were gone
have gone
has gone

are gone

I suppose you are hungry,

The correct question tag for this sentence is

1
2
3.
4

do I?
aren’t you?
don’t I?

do you?

Swami said, “I’m speaking the truth, sir.”

The reported clause in the sentence above is

1
2
3.
4

a statement
a prepositional phrase
a conditional clause

a request

Choose the verb that cannot be used in
present continuous tense.

l.

2.
3.
4

like
explain
complain

shoot

to Delhi.
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66.

67.

68.

69.

Choose the plural noun form of the following.

1
2
3.
4

analysis
crisis
fungus

criteria

Choose the grammatically correct sentence.

1
2.
3.
4

I had a three-hour journey
I had a three-hours journey
I had a journey of three hour

I had a three hours journeys

I thought our game would get rained out.

In the above sentence ‘would’ is used to express

1 a future perfect time

2 a polite request

3. success in the past

4 prediction in the past

The rocket is going the moon.

Choose the word that fits the blank.

1
2
3.
4

since
from
along

towards

Choose a complex sentence.

1
2.
3.
4

He is a great poet
Are you busy?
He behaves as if he were a minister.

He is not only a singer but also a dancer.
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73.

I walked up the stairs cautiously.
I nearly fell twice.

Choose the word that can link the two sentences.

1 Even though
2 And therefore
3. So that

4 Even so

Choose a compound sentence.

1 She was singing a song.

2 She made a promise and she helped me.

3. She promised because she had an obligation.
4

If you agree, I will come with you.

They will buy a house.

Choose the passive voice verb for this sentence.
1 will be bought
2 is to be bought
3. was bought

4 will bought

Choose the synonym of the word underlined.

There were many white cranes in the lush green paddy fields.
1 free

2 laden
3. growing
4 rough
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Choose suitable prefix to get opposite of the word ‘perfect’.
1 in
2. im
3. dis
4

mis

I feel like giving up smoking.

The meaning of the expression ‘giving up’ is
1. to remove
2. to take rest
3. to turn into
4.

to stop doing something

Itwas  first time the prize was awardedto  Asian.
Choose the correct articles to complete the sentence above.

1 a, the
2 the, an
3. an, the
4 the, a

Yes, Kohli is my favourite batsman.

Choose the correct question to get above sentence
as the answer.

1 Who is your favourite batsman?
2 What is Kohli?

3. Is Kohli your favourite batsman?
4

Are Kohli your favourite batsman?
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80.
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Choose the correct statement with correct capitalization.

1 I am Thandi from south africa.
2 I am thandi from south africa.
3. I am thandi from South Africa.
4 I am Thandi from South Africa.

In a formal letter ‘Heading’ consists of
1 Closing part

2 Date & Place
3. Salutation
4

Subscription

Choose the word you find between the following
guide words “kiwi - knit”.

1 king
2 kitty
3. knob
4 knife

When the word ‘move’ takes the suffix ‘able’ the
correct spelling of it is

1. moveable
2 movable
3. moveabel
4

movaeble

Choose the prefix that means forward.

1 mono
2 pro

3. intro
4

bene
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Read the following passage.

Some parents and teachers argue that giving too much
homework limits the after school activities of children. They
say it is beneficial to a child’s academics. But the experts say
that reducing the play time of children will cause the growing
obesity cases.

Parents and teachers think that too much homework

1 destroys the academics of students

2 is beneficial to the academics of children
3. increases their play time
4

leads to the growth of obesity cases.

Read the following passage.

Some parents and teachers argue that giving too much
homework limits the after school activities of children. They
say it is beneficial to a child’s academics. But the experts say
that reducing the play time of children will cause the growing
obesity cases.

The reason for growing obesity cases is

1 reducing the play time of children

2 allowing children to play in the evenings
3. giving less amount of home work
4

allowing children to participate in after school activities

‘Table Alphabetical’ was created by
Robert Cawdrey

1

2 Bentinck
3. Piaget

4 Gattengo
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In modern days, the teacher need not be

1
2
3.
4

a researcher
a social engineer
a facilitator

a technician

A student reading a word or a phrase again by going back in the
line is called

1
2
3.
4

scanning
skimming
regression

collaboration

Choose the word / phrase that does not indicate
methods of reading.

1
2
3.
4

word method
sentence method
story method

organic method

A sentence is the ‘unit of speech’ in

1
2.
3.
4

Direct Method
Bilingual Method
Natural Method
Suggestopedia

The most important element to be considered while
using TLM in the class is

1
2
3.
4

availability
relevance
beauty

size
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APTET — Paper- 1A — 2022
Mathematics

How many integers are there in between —5 and +5

—5 508050 +5 © iS5 Y Yrgvopses S0
10

1

2.

3. 9
4 11

Find the value of ‘A’ in the following

1

X
A 9
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(X denotes product)
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Six bells commence tolling together and toll at intervals
2,4, 6,8, 10 and 12 seconds respectively. At what time do they

toll together (in seconds)
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The area of a square with side ‘x” units is double the
area of a triangle with base ‘x” units, then the altitude of
the triangle is (in units)
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The value of 4/. 500 ml + 4

l. 17. 100 ml
2. 17.125 ml
3. 27.200 ml
4 5/.500 ml

4 9.500 .0. + 4 Jews
1. 18€.100 0.5.
18€. 125 0.9.
2 9. 200 .5.

Ll

5 8. 500 2.9.

When we see the letter ‘M’ vertically in the mirror the image is
M’ @5 5o 508° JenH SPOSY)E TR (P&Dowo

M

1
2. =
3. =2
4. W

The fourth proportional of 5, 8, 15 is
5, 8, 15 © BwE) 43 oS0

1 18
2. 20
3. 21
4 24
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Simplify ! — +
1+ x

1
I+x™"

1
+ “ord ) 580
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0
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2
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If the radius of a circle is increased by 50%, then its area is
increased by the percent

28 ) 2580 50% DODS T JTOI0 SO DS
S0

1 50

2. 75

3. 100

4 125
Value of /1331
1331 dews

1 11

2. 21

3. 19

4 9
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‘6’ water taps can fill a tank within 1 hour 20 minutes then ‘5
water taps can fill the same tank within the minutes
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1 90
2. 96
3. 94
4 93

In the following “2x + 3 = 9” represents

l. equation

2. expression

3. definite statement
4. ‘x’ is constant
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105.

Solve — — 1 —+l
4 3 2
x 1 x 1
——— = =+ = 5 FRODHIN
2 4 3 2
1 x=2
2
2. x=§
2
3. xzé
2
4. x=z
2

Write all the prime factors of 48
48 & Ko o) PITIoSTw (TG

1. 2’x 3’
2. 23x 3
3. 2% 3?
4. 2% 3

1 3

The name of the property 2{%+ —} = 2{—} + 2{

2 5

1 closure property
2 associative property
3. identity property
4 distributive property
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1 ROJE GBY0
2 SN aleple
3. SEND G$BY0
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In a school 3 rooms are required for 60 students, if 400 students
are there, then the number of rooms required are

2.5 TS 60 5508 TGO 3 KHen SITL.
3 TS’ 400 5000 APGHOH TIORS KehHen

1 20
2. 40
3. 25
4 30

The angles of a triangle are in the ratio of 2 : 3 : 1 one of those
angles is

2.8 |@2zod’ Sero ING 21 3 1 1 wod (@huos’
2.5 8°%090

1. 40°
2. 60°
3.  80°
4. 100°

The cost of painting a cuboid with dimensions
20cm x 15cm x 12cm at the rate of 5 paise per
square centimeter (in rupees)

20 20.95 x 15 0.2, x12 20.5. osennr Ko
agmaobé SOKIBASENE SEEY oBNESHH
50w TS eds i) (Errabed’)

1. 82
2. 72
3. 102
4. 260



109.

110.

111.

If a shopkeeper announces his articles marked price as 25%
more than the cost price and allows 12% discount than how
much percentage of profit he will get

2.8 (ST ST SIO (REOS S8 §YIo 57
25%050r AFowod 12% &R 08 NS SIS S5

TG FB0I0E?

L 5%

2. 10%
3. 15%
4. 20%

Mode of some quantities is x, if ‘3’ is subtracted from each
quantity then mode of new data is

§°R) o0 TV x, SE0¥0S (¥ 08 Hoé
3 AVICHT 5TF) §, ST0FTOSLD eTOFES0

1. 3x

2. x -3
x+3

.ol
3

The radius of a circular shaped park is 40m. A path of width
7m. is laid around outside the park. The area of circular path is
(in cm?)

S8 ) TGE0 40 D. R ot ey 7 . Ieken)
278 SO, WS & 2 T (S700.0.08°)

1 1924
2. 1914
3. 2024
4 2044



112. Find the perimeter of the rectangle whose sides are 6x + y and
3x—2yis
6x + y S8 3x — 2y © PEY Jseoyeore Ko égz:sera;cf@o
G0 oty Sod

1. 18x + 4y
2. 18x — 2y
3. 6x —y

4. 18x -y

113. If three or more points are on the same line, then they

are called

1. coplanar points
2 collinear points
3. coplanar lines
4 collinear lines

o> B @0SER) A5 DocoHen &8 Tpp Ho&s e
1. 28O0 DotHeHen

2. 58D DotHHen
3. 25935 Bpew
4, $589cs Bypew

114. Number of edges of a cube is
Q0 S0 B0 VOO éogpag

1. 6
2. 8
3. 12
4. 14



Maths Methodology

115. The counting process of Greeks is
1. Arithmetica
2. Logistica
3. Philosophica
4. Platonica
N0 Keas @S0

1. I
P
2. eRHT°
()
3. 2T
4, 28 s
™

116. The percentage of problem solving in 50 marks summative
assessment is

50 S35, 0% K0T VOYTerS S S0B0YS” DHIGIESS

FS50

1 25%
2 30%
3. 40%
4 50%



117. Most important book in Mathematics library is

118.

119.

1.
2.
3.
4,

Class textbooks
Tables book

Mathematic dictionary
Work book

Ke3S (HOGPosH08” HosseS Sy 0o

1. SN 3”651@:@03"03

2. AS°)© YJEO

3. Kedes &g:sé

4. SLAMINROISEle

CCM — means

CCM - o35

1 Content Cum Management

2. Creative Commons Market

3. Content Cum Methodology

4 Current Content Management

The prime goal of mathematics education at primary level is

1.
2.
3.
4.

Mathematics made easy
Mathematisation of children thinking
Mathematics syllabus design
Understanding every day maths

(DY FoooS® Keds LS5 (PES K50

1.
2.
3.

Ke3arq) Moo Baho

290 88 SS0% KBHSBoSEO

KEAS Foyeroton SahInEo
8’0 BIS0S T K3 ©PoBwE SE0



120. This is not a problem solving method
1. Restatement method
2. Analysis method
3. Method of Analogies
4. Geometrical method
38 26533"5 /Y8 ‘ég@ 50
1. PRSIV ‘ég@
2. e DG
3. $°c:5°)r3°§e> Nlate
4. =ADH IGS



121.

122.

APTET — Paper-1 A — 2022
EVS

The following is the topmost layer of soil

1.
2.
3.
4.

“O” Horizon
“A” Horizon
“B” Horizon

“R” Horizon

808 AS° Jo& s

1.
2.
3.
4.

“0” §8wo
“A” §820
“B” 8820
“R” 88250

Acid rain is due to

1.
2.
3.
4.

CO, CO,
NO,, SO,
Hg and Cd
He

€350 STINIK °T€0
™ o

1
2.
3.
4

CO, CO,
NO,, SO,
Hg 5805 Cd

He



123.

124.

The animal which does not have external ears

1. Elephant
2 Giraffe
3. Dog

4 Frog

SRS IV B5e:508d WO

1 ANSY,C
2 0%
3 SUSE
4 S

Pedestrians cross the road by using

1. Speed Breakers

2. Red Light

3. Green Light

4. Zebra Crossing

FETen 5 NS EIBTRORS

1. 5@35@§5

2. BESS

3. \A<8es

4. BerEok



125. When we reduce the angle between two mirrors the number of

images

1. decreases

2. increases

3. remains the same
4. no image is formed

Bo DB BB)ETe DS e0 SAWY) Fod & SoegKe
@&hozre Sog

1. SRH&E06

2 EslobY) ST bleT

3. S5°80) 0D

4 (H8D020 IBYES

126. Name of the first mammal cloned

1. Nemo

2 Mira

3. Dolly

4 Cumulina

wegRoocser §A0K TF0° &)f Taads 8o
L 3

2. Qo

3. @d

4. H30OI°



127. Animal that aestivates in summer

128.

129.

1. Frog

2. Bat

3. Earthworm

4. Lion

3028° ROFITH0 S50 oI

1. §Z>°)

2 SANST
3. TS50
4 DOT°0

The maximum displacement of a vibrating body from its mean
position is

1. frequency
2. vibration
3. pitch

4. amplitude
5020T TNY ST gAY 50 Hod FoBd K8Y FS\o¥o

1. 2}"‘6:?@&5?30

2. EodS0

3. ™S

4, E0DS D8

The name of ticket issuing machine in bus is

2:0)5° 36 3B0HH EHBTA0B WIS D
1 KIMS
2. AIMS
3. DIMS
4 TIMS



130. Motion of coins on a Carrom Board

1. Rectilinear motion
2. Curvilinear motion
3. Rectilinear and Curvilinear motion

4. Oscillatory motion
S5085° Wes HHS® &) Soso

L 0558HH Seso
SEBHaH Seso
DY 3E0PH Soso

L

s Soso

131. Example for a Prokaryote
1. Hydra
2. Bacteria
3. Earthworm
4. Cockroach
So|s% Y EeTIS SErSe

O (5
2. ordsase
o
3. S>S»
4. 0
Q



132.  The name of Chandrayan — 2 lander

1. Pragyan

2. Rover

3. Vikram

4. Rohini

JO(BHATR - 2 S erosb D
1. @m§5

2. &6

3. D

4. 8%



APTET — Paper-1-—2022
Social Studies

133. The National Forest Conservation Policy was enacted by
Central Government in

S0(ES (DAOSB[0 2B @ DBTFE IR VIHBVI

éo;SéQéo

1. 1950
2. 1952
3. 1925
4. 1960

134. Flora and Fauna means

The plants and animals of a particular region
Minerals

Enzymes

Hormones

O° S08A0 FP°J° 957

Ry AW =

.|_\

2.5 (P858 (FoS0S” DOR Ink)en $HB5 HoIw
POV

~OBI0eD

Lol A

588° PRSSS



135.

136.

It is a collection of songs and the origins of Indian music

1. Rigveda

2. Yajurveda

3. Samaveda

4. Atharvanaveda

Jere oS’ &) Soseso, 5% HBoAso B,
Soreren oS &IRo.

1. 2074e50

2. dﬁowaosdﬁo
3. IS0

4. @CSCESSQZ.S)CSO

“Go back to the Vedas” a call was given by

1 Swami Dayananda Saraswathi
2 Raja Ram Mohan Roy

3. Swami Vivekananda

4 Keshav Chandra Sen

“355°e08 HB00s” e DY 0
1. irzsib BA5TTOLS DTS

OP23° OPSIRIWTOR OP0)

(2 IS0

LN

£55 SoDS



137. Bison hills are located in

1. Visakhapatnam, Vijayanagaram
2. Kurnool, Kadapa

3. East Godavari, West Godavari

4. Chittoor, Ananthapuram

BOS Fodew B S IJVOD &I
1.

i)rs*’a)?:aésg)o, eOVIKT0o
§65;)e>a EED
e§5°d>°) K38, L/D%L)SﬁJ Koo

ol

WAL, 9I0LPTO

138. Tarik-Al-Hind (History of India) was written by

1. Alberuni

2 Abul Fazal

3. Abdul Rajak

4. Amir Khusro

‘c85-05-3708 (arSSTE $OIE) &S Kogd) SDoDSH
L esSBErd

2. 28 PuS

3.  od gk

4. 08 |



139.

140.

141.

The rice provided to the poorest people under “Annapurna
Scheme” (in Kgs)

ORI DE0” K FYIHF QDB (B2&o &dSo
32 Do (38°S)

1.
2.
3.
4.

15
10
20
13

The first woman doctor in India

1.
2.
3.
4.

Savtitri bai phule
Anand Bai Joshi

Pandit Ramaabai
Sarala Thakral

TESTIS” SO HoIre Jehgoren

1.

L

A o Yo
3508270000 8%
HNoé&es HSI°eT°00

VST eSS

In “WALTA” ‘T’ refers to
“WALTA” & “T> 8D 30eD08.

1
2.
3.
4

time
tree
temple

traffic



142. As per Sarada Act minimum age for a girl to get married is

143.

144,

PET S50 (H5°C0 28 IS D% S05R0)

1. 18
2. 14
3. 12
4. 21

“Kandariya Mahadeva Sivalaya” was built by
1 Yasho Varma

2. Dhangadeva

3. Jayasakthi

4. Jayadeva

50e58aH SoTBS BToirR) A0Y0DIO

1. oﬁo%‘*:,scf&
ESOKTHE
zso‘i;%_éo

L

23O

“Pinjari” is the biography of

1 Aaduri Ayodhya Ramaiah
2 S. K. Chowdary

3. Shaik Nazar

4 Eshawaramma

“00e8” A $BE 88 H00HONI
1. (Elable) eao?wc‘jsc";i:oﬁoé

2. JR.3.Ied
3. af oeb

4. BaKENy



145.

146.

“Giving examples for living organisms” is related to this
educational objective

1. Knowledge

2. Synthesis

3. Application

4. Understanding

"o A HOH STERdNE0” e ATy OoFIS
0022080058

1. 250
=y
2. D032
(qp]
3. SISl rafe)
4, (DINY RSN

“Curriculum should be as per the age and addresses to the
needs of the pupil” It shows

1. Principle of Creativity
2. Principle of Child-Centric
3. Principle of Activity based
4. Principle of Socio-Centric
“PEYDETVE TGO JADRYH SASENT 70 WSITOK
(] ™
EByeotr Gomd” 38
(90)
1. QYIS 38 QG0
§HBo|BE)S w0
§°)@°§c3°6 (B0

L

des BoBEYS B0



147.

148.

“Write two slogans describing the need to plant trees” this
question comes under Academic Standard

1. Conceptual Understanding

2. Asking questions and making hypothesis
3. Appreciation, values-sense of bio diversity
4. Information skills-project works

“BES TErONS ©II0) ISOHIT B AITen 0°d00s”
&3 (2F) Be Iorgdrere TotHS08.

1. QAASICITT°S

2. (9§00, HOFwTen FHEo

3. oRSoB0SEO, JeSeo-BSIAE50 Hey V)T SOA
Slelatate)

4, PONb e §@e§°§m-@°§§é§ HSoen

The objective related to affective domain is
1. Attitudes

2. Knowledge

3. Understanding

4. Skill

PaS¥ SommdS H020R0NS ©F(0

1 SpLoen
2. 250

=y
3. [OINTARLN]

4. g‘@mso



149.

150.

As per the Eswharibhai Patel Committee the student
participatory method to teach 6, 7 classes is

1. Comparative method

2 Activity - based method

3. Hypothesis method

4. Question and Answer method

éa%géaro’i_z DES Q8D 6, 7 S5 SEKS0E $5025000D
(PERToTOI BDINODS ITGY wHI g HEE
1. eﬁo@mé&§ @650535 :ag@
2. §°)®'°§CS°C5 Zoge‘ié
3. Zs@§e>°)5 DEH
Q

4. DPTBE 558

@

The following one is not in the 10 core concepts of National

Education Policy 1986

1. History of independence

2. Equality of men and women
3. Students participation

4. Developing a scientific perspective

1986 2805 g IGO0 (560 10 S8 wozes’ BIG

L 88 JSo(S g $8(S
BRSS! RSO
35"5@,@ wx@5m§o

L

F( Q00 BYS)TR) DOF0oBOTEO
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